MATHSWITHABHINAY CLASSES

Men & Women

10.

D vkehfd! hdle die4 fru eadj | drsgSle%6
vicehnh dle disfdrusfru eadjza

20 vieh6 fru eas6 el nolk cuk yssgS ks3H
vheh6 fru esfdruhehj nolf cuk ysé

15 vkeh 20 elj yEEh[ Ko lss P& fru dkdjd S
18 fru eg[ HarsgB839 el yEEh [ aZd ls6 fru eg
fdrusviceh[ la rgs; fn oso Febfru dle dja
1vkeh; k2vIiBs k3 chddl hdle dis# fru esdjr
081 vikeh- 1vIB +1 yMikidrusiru esdj i kas
4 vkehviS6 vig fdl hdle dis8 fru eadj | dr
08 3vhkehvigvig) &nh hdle dielO fru esdjrg
08ris10 vIB nh dle dlsfdrusfru esdjaiA
1vieeh B vIiBa st yMisfdl hdle dlsos 2§
eadj | drsg82 vikehv i yMish hdle dlsso
Peeadj | drsgB2 viehv i3 viganh dle dis
120 Pefesdj | drsgBs vicehvisiz yMidl dle
disfdrusl e; e[ R dj y=&a

Sviehfdl hdle disl0 fru esdj | drgB20yMis

H die dies0 fru ead] | drsyB5 vkehdlei ek

djrsgBviB10 fru ch diyl y Mist it ksgSy IS ik

dle 20 fru esi kgt kk gBrlsfd rusy Mi st tysHes
40 vieehfd| hdle disgfOfruesdj | drsg8g 10
fru cho 5 viceh NbH ksgSlsdle fdrusfru eg
[ e gk

,d fel#h Inolk disio Pe&eack | drk g cfd

iy kfel=ho Pefea cukl drkg8t ¢ nadelhl Kk
dle djrgSla rkpykfd ifr Pkio ¥ de yxks
g8vIBnddfeydj nolf dlss Hesescuk nesgaris
nolg esly fdruhgs

,d Bddf wsfdl hdle disd0 fru ed ke djusd S

b

14.

16.

Ram can do a work in 15 days, while Ram and
Shiva work together they can complete the
work in 10 days, in how many days Shiva can
alone do the same work?

T forddt & &l 15 & o St T IR e
fyetet 39 &M & 10 &7 & w@ € RE
Thell 39 &M hi forad T o w=am?

Suresh works twice as fast as Mihir. If both of
them together complete a work in 12 days,
Suresh alone can complete it in

Q@ # wEewa fafe o g 21 9k <E
et foret @Rl w1 12 A & &a =, @ g
el IH HE i fhad g7 o swam?

1 . .
A cando 5 of a piece of work in 5 days. B can
3 .
do 3 of the same work in 9 days and C can do

2
3 of the work in 8 days. In how many days can

three of them together do the work.

1 ) 3
A fwet e EﬂT’TSﬁ?ﬁW%,Bg

m9ﬁqﬁw%aﬁxc§ﬂm8ﬁ?ﬂ‘

Fl 21 dF1 foeres & fohdy 99a 9 w2

. 17. A certain number of men can do a work in 60
f]%/(bs\%\\llkklz h IC:CT ifle” i Ykaﬁl;Ikﬁrliiflgu[Cl{g days. If there were 8 men less it could be fin-
AV ;Sl(b VIBV l{EhJLgsll?Bka sgfesrled e ished in 10 days more. How many men are there?
fdrusfru eel @ gisk @mﬁ%ﬁn@mﬁ@ﬁjﬁﬁ%’lﬂﬁ

1. diyvhehfdl hdle die0 fru esijkd;j | drsgl ;ﬁﬂfﬁa&ﬁ%ﬁf 10 & st
;fn 15 vikehde gt k 10 fru T, kky xr oS i '
"ky esfdrusv keh s 18. A group of men decided to do a work in 10
12. 1vkef) 1 vIB] 1 yMisfdl hdle disge' &0 days, but 5 of them become absent. if the rest
fri] 30 fru] 60 fru e jidj | drsgB2 vikehv s of the group did the work in 12 days, find the
8VvIB ds KkfdrusyMisdle ij yxkst kbfd original number of men?
dle 2 fru esijigist k'S %9 Afwal & g8 3 ™ & 10 T d
13. 1vkef) viB] 1 yMisfdl hdle dlee 1410 T T 1 o foran Wy ST 9 5 erafie
fr] 12 fnd] 15 fru ed jikdj | drsgB3 vkehvis R®| Ak 3w =afe M =1 12 9 & 38 w)
2vIB dd KkfdrusyMisyxk g k<d die 1fru o eRe | fohe st o2
esi jigst k's
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19. A certain number of men can do a work in 60 27. A farmer can plough a field working 6 hours
days. If there were 8 men more it could be fin- per days in 18 days. The worker has to work
ished in 10 days less. How many men are there? how many hours per days to finish the same
%9 Al fhdt %@ #1 60 & & w € Al work in 12 days?

8 =afe Aferer B @ Fm wW H 10 7w T T 6 w2 Wi ™ hteh foel @i i
T STRY § fRay =t o 18 T o Siiqar €1 39 %M &l 12 &7 o 991

20. A certain number of men can do a work in 35 F ® fa;pﬁ? TS FH T H
days. If there were 10 men more it could be fin- ) )
ished in 10 days less. How many men are there? 28. Sfmen liaril do a work in 12 days. Ai[er 6fd§y}SI
L E R R ¥ of toh Work, ) rEore men \;/ere engz;iih to 1n1's
10 SRR ST B 4 % A § 10 7T ‘ e work. In how many days would the remain-
T RY § FRay oIt o ing work be completed?

21 30 : din 18 davs. Th g =afeq ferelt i &1 12 fa o o €1 6 R

- .mencanrepauraroa in ays. They are a1 4 SR SR e S ¥ 9w fRad R
joined by 6 more worker. Now the road can be ¥ T =@
repaired in . 29. A can finish a work in 14 days at 6 hrs a day. B
30 %l T HEF F W 1? fer Eh_{ can finish it in 8 days at 2 hrs a day. Find in
| 76 sfers & S il how many days they can finish it working to-
R w9a erm?
gether 4 hrs a day.

22. A certain number of persons can complete a piece A 6 52 Yigfe & =i et %9 &5 14 T
of work in 55 days. If there were 6 persons more, o Safer B2 we gfafe &m & 8 fTa § qu
the work could be finished in 11 days less. How F ¢l SHT THoRt 4 =02 gfafed &M
many persons were originally there? 39 & & fhad 7 o s w2
%z Afe forddt &M #i 55 fe7 ¥ &% 81 3z | 30. 2 men or 3 women or 4 boys can do a work in
6 AT 3Teh B0 af %W wH § 11 T3 &0 52 days. Then in how many days will 1 man, 1
T IR H o =afed &2 women and 1 boy do the work?

23. 20 Men can do a piece of work in 25 days, in 2 SEHT A1 3 ARG A1 4 g ToRE w1 B 52
how many days will 10 men do it? fed & = 211 s, 1 3:ﬁ'{_ﬂ 3:ﬁ'{ INNEET
20 =Ife forelt s =i 25 f& & awwd €110 TR IH T F A A A
wf S HM & Thdy e § 31. 12 men or 15 women or 30 boys can do a work

24. If42 persons consume 144kg of rice in 15 days, in 45 days. Then in how many days will 12
then in how many days will 30 persons con- men, 15 women and 30 boys do the work?
sume 48 kg of rice? 12 3TEH 91 15 S 91 30 i fordt s i

‘ ‘ , 45 &3 & *xd ¥ 12 =, 15§ SR 30
42 =Afe 144 fomm = 15 &7 o =@ € @ e
30 A 48 T =mee fovad 7 o @maa? ' i

. . _ 32. 2 men or 5 women or 3 boys can do a work in

25. 39 persons can repair a road in 12 qays working 10 days. Then in how many days will 1 man, 2
5 hou.rs a day. In how many days will 30 p:rsons women and 4 boys do the work?
working 6 hours a day complete the;vn(;rk. > st A 5 SRS 3 s Rt W H 10
39 o T HgH F1 A 5 A0 A fer & w #11 omel, 2 SR ol 4 e
FM w12 T F wd & IGgER 30 = 6 fiyere 3T FM F FEA R § B0

5 R : S NIV
e PH o F e = e 33. If2 men and 3 boys can do a work in 10 days,

26. If 72 men can build a wall of 280 m length in 4 men can do a work in 10 days, in how many
21 days, how many men could take 18 days to days 3 men and 3 boys can do same work?
build a similar type of wall of length 100 m? 2 e 2R 3 Tew faeeR fFdt w1 & 10
Ffe 72 =R 280 H oot T W 21 T H T § # €, 4 e 39 HM &l 10 A A
I & 18 T H & 100 H et Gaw FW Tl TEIER 3 SH 3R 3 AgH et
TIH & foau fohas safaal 1 steeaehar s ? 39 ®M & fRad T o &2
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34. If 6 men and 8 boys can do a piece of work in Teh ShaR q 56 T&1 H Toh™l h[H hl I <l
10 days and 26 men and 48 boys can do the 3T foren R 104 =fe w1 W T S fR
same in 2 days, the time taken by 15 men and g wve yfafe wm e 2130 f&T 9= F=m =
20 boys to do the same type of work will be : 2
6 TTHl o § T FEE wW B G0 f | 5 W A N R SHafEd S s
Steifeh 26 SMEHT SR 48 wigsh S HH H 2 R A W qifr 9 wue g W
T o o Bl 15 TR 3R 20 s et T W FE W E Gh?
w1 fre T o w 40. A contract to be completed in 46 days and 117

35. If 5 men or 8 women can do a piece of work in men were set work, each working 8 hours per
12 days, how many days will be taken by 2 day. After 33 day, 4/7th of the work is com-
men and 4 women to do the same work? pleted. How many additional men may be em-
afe 5 oAfe iR 8 forai el b bl 12 fo ployed so that the work may be completed in
<l 2 AR SR 4 FerEl 5 9 B time, each man now working 9 hours a day?
w0 ¥ fo A e ,

36. 20 women together can complete a work in 16 T SR A 46 A F et w™ A A w
days. 16 men together can complete the samy S T SR 117 i FTH R S

ys en together can complete the same .
work in 15 days. The ratio of the working ca- 8 w2 et e w7 ¥ 33 o A A
pacity of a man to that of a woman is : i T W B H R iR s s
20 @I ferdlt ™ 1 16 T & et € St 7 .

16 e SH w W 15 A F w1l W S A 9 e Hafed FH
et @ik 1 iRa W FEEEAr H SHIE W FH W E T
feam 82 41. A builder decided to build a farmhouse in 45

37. A man and a women working together can do days. He employed 150 men in the beginning
a certain work in 18 days. Their skills in doing and120 more after 30 days and completed the
the work are in the ratio 3:2. How many days construction in stipulated time. If he had not
will the women take to finish the work alone? employed the additional men, how many days
| STRHT 3R 1 A foemest fet %@ 18 behind schedule would it have been finished?
e 37 ol fermm oy o 3§ 150 =R FH W

; T T 30 T AR 120 AR IR wH W

38. A contractor undertakes to make a road in 40 T IR g 9 ey B T Ak we
days and employs 25 men. After 24 days, he stfafiaa =afeadi & 1 W 8 o mar 91 ™
finds that only one-third of the road is made. Tivad w79 9 feae &9 @ U 2ar?

How many extra men should he employ so that

he is able to complete the work 4 days carlier? 42. A builder decided to build a farmhouse in 20
T SFR F 40 A F T T RO QR days. He employed 40 men in the beginning
A S oS Sy W T SR 4 fe AR and 20 more after 10 days and completed the
M w1 TH TR feew [ oE wEn e construction in stipulated time. If he had not
afafaa iRl B Fm R e S dhE employed the additional men, how many days
T I R T i behind schedule would it have been finished?

39. A contract to be completed in 56 days and 104 T foeet 7 T wHeRd 20 &9 # QU e
men were set towork each working 8 hours a =1 Tof foren Ry o 5§ 40 SR HM W
day. After 30 days, 2/5th of the work is com- M A 10 f A= 20 = SR HW W
pleted. How many additional men may be em- I SR FT .W 9 k gs[ T AR T
ployed so that the work may be completed in fafier SR 1 W T A
time, each man now working 9 hours a day? ffea T & e fo o g e
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43.

44.

In a barrack of soldiers there was stock of food
190 days, for 4000 soldiers, after 30 days, 800
soldiers left the barrack. For how many days shall
the leftover food for the remaining soldiers?

T G BrEAt | 4,000 SR @ ferg 190
&1 1 e em 30 &9 =18 800 After BrEA!
BRI T S g dioH 99 ARl &
faq fha 57 & =erm?

A team of 30 men is supposed to do a work in
38 days. After 25 days, 5 more men were em-
ployed and the work finished one day earlier.
How many days would it have been delayed if

5 more men were not employed?

45.

30 SAfKAl & Tk TS hl hlg M 38 1 H
W T ol 25 fT AR 5w SR e W
58w ffved o 9 1 7 w=a W@
T AR sfafiad 5 =afed 7 omd | M fohaA
< o= 9 qu e

A does half as much work as B and C does half
as much work as A and B together. If C alone
can finish the work in 40 days, then all together
will finish the work in?

A SR fF T %™ B g0 fRy MU FH H
STE ® SR C 5N o T FW A SR BN
foeet T T %W w1 e ¥ AR C etwan
FM A 40 T H @ qA et w1 H
o w9 § &2

Answer

1. 20 fru 2. 98 eh 3. 78 viceh 4, 24fru 5. 40 fru
6. #-fu 7. 20yMis. 56 fru 9. 90 10. 10fru
11. 150 vkeh 12. 8 yMis 13. 8 yMis 14. 30 15. 18 days
16. 4 17. 56 16. 30 19. 40 20. 25

21. 15 days 22. 24 23. 50 24, 7 25. 13

9
26. 30 27. 9 28. 4 29, 32—5 30. 48

31. 15 32 2
) ) 67

36. 4:3 37. 45 38. 75

41. 12 42. 5 43.

Contact No. :

4— 33, 8

200

1
34. 4 days 35. 135 days

39. 56 40. 81

1
4. 1 - 45.13§fnu
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